RONIX POWER TOOLS

O

¢
§ BB ..\

< )\
L
A - - - = \
_ i /

\‘,
»(\ w
£/

£
&

6122

www.ronixtools.com Dual EIECtric POIiSher 1200W



RONIX POWER TOOLS

Premium Quality

Number | Name 47 Pressure plate
1 Head cover 48 Cable sleeve
2 M8x12 hex bolt 49 Power cord
3 M4x18 bolt 50 Trigger
4 Right Abgle Handling 51 switch
5 Gear Box 52 M4x14 bolt
6 606 beraing 53 down switch handle cover
7 R10 Snap ring 54 M5 Hex wrench
8 Larg gear
9 3x10 shaft key
10 R32 bearing inner card
11 6201 bearing
12 Front Cover
13 Output shaft
14 Eccentric wheel
15 R12 snap ring
16 6001 bearing
17 Eccentric shaft
18 Rubber dust cover
19 Backing plate
20 5/16"-24 bolt
21 M4x12 hex bolt
22 M4x12 hex bolt
23 Eccentric block
24 M4x20 bolt
25 R spring Washer
26 Disk Washer
27 Aasher
28 Small Gear
29 629 Bearing
30 Bearing cover
31 M4x8 bolt
32 Rotor
33 Windshield cover
34 M4x65 Bolt
35 Stator
36 Magnet ring
37 607 bearing
38 Bearing sleave
39 Motor housing
40 Carbon Brush
41 Carbon Brush Holder
42 Carbon Brush coil
spring
43 M3x8 bolt
44 Speed deal
45 Up switch Handle cover
46 M4x12 Bolt

6122

www.ronixtools.com Dual EIBCtric POIiSher 1200W



